Award Worksheet

Purchasing Entity: Shelby County Schools

2580

Awarded:

Run Date: 11/26/18 12:40 pm

Bid ID:

Re-Bid for Maintenance Warehouse- Sheet Metal

Bids Due By: 11/26/2018 11:00 AM **Bids Sealed Until:** 11/26/2018 11:00 AM

Category: Sheet Metal-#912606-TJ

Effective Start Date: Effective End Date:

Description:

Vendor Summary Information

Vendor Name	Response Terms	Response Payment Terms	Response Dollar Summary		
Metal Supply Company, Inc.	Delivery time 2 - 3 days	NET 30 days	8,653.7500		

Southern Steel Supply Company, Inc.

10,077.0000

Line Lot Number Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award
	for the selected criteria.								
1	See specification attachment	1 - Count	Southern Steel Supply Company, Inc.	42.0000	25	1,050.00			
	Manufacturer & Part Number:	usa							
	Quoted as Spec'd: Yes		Product Number: sh22g						
	See specification	1 - Count	Metal Supply Company,	46.6500	25	1,166.25			
	attachment Manufacturer & Part Number:	Metal Supply	Inc.						
	Quoted as Spec'd: Yes		Product Number: MT00367						
	Response Item Payment Terms	: NET 30 DAYS							
	Response Item Notes: 2 - 3 day	delivery							
2	See specification	1 - Count	Southern Steel Supply	48.9500	10	489.50			
	attachment Manufacturer & Part Number:	USA	Company, Inc.						
	Quoted as Spec'd: Yes		Product Number: SH20G						
	See specification attachment Manufacturer & Part Number:	1 - Count Metal Supply Co.	Metal Supply Company, Inc.	57.0000	10	570.00			
	Quoted as Spec'd: Yes	,	Product Number: MT00368						
	Response Item Payment Terms	:: NET 30 days							
	Response Item Notes: 2 - 3 day	delivery							
3	See specification attachment Manufacturer & Part Number:	1 - Count USA	Southern Steel Supply Company, Inc.	58.7500	10	587.50			
	Quoted as Spec'd: Yes		Product Number: SH16						
	See specification attachment Manufacturer & Part Number:	1 - Count Metal Supply Co	Metal Supply Company, Inc.	83.0000	10	830.00			
	Quoted as Spec'd: Yes		Product Number: MT00369						
	Response Item Payment Terms	: NET 30 days							
	Response Item Notes: 2 - 3 day	delivery	-						
			2						

Line Number	Lot Code	Item Description	Purchase Unit	Vendor	Bid Price	Response Quantity	Total Price	Pending Award Quantity	Pending Award Total	Pending Award	
4		See specification attachment Manufacturer & Part Number:	1 - Count Metal Supply Co.	Metal Supply Company, Inc.	140.0000	10	1,400.00				
		Quoted as Spec'd: Yes		Product Number: MT00371							
		Response Item Payment Terms:	: NET 30 days								
		Response Item Notes: 2 - 3 day delivery									
		See specification attachment Manufacturer & Part Number:	1 - Count USA	Southern Steel Supply Company, Inc.	220.0000	10	2,200.00				
		Quoted as Spec'd: Yes		Product Number: SSH18304P							
5		See specification attachment Manufacturer & Part Number:	1 - Count Metal Supply Co	Metal Supply Company, Inc.	135.0000	10	1,350.00				
		Quoted as Spec'd: Yes		Product Number: MT00401							
		Response Item Payment Terms:	: NET 30 days								
		Response Item Notes: 2 -3 day o	delivery								
		See specification attachment Manufacturer & Part Number:	1 - Count USA	Southern Steel Supply Company, Inc.	155.0000	10	1,550.00				
		Quoted as Spec'd: Yes		Product Number: ASH1253003							
6		See specification attachment Manufacturer & Part Number:	1 - Count Metal Supply Co	Metal Supply Company, Inc.	222.5000	15	3,337.50				
		Quoted as Spec'd: Yes		Product Number: MT00403							
		Response Item Payment Terms:	: NET 30 days								
		Response Item Notes: 2 -3 day o	delivery								
		See specification attachment Manufacturer & Part Number:	1 - Count USA	Southern Steel Supply Company, Inc.	280.0000	15	4,200.00				
		Quoted as Spec'd: Yes		Product Number: ASH1253003							
				•							

									Pending	Pending	
	Line	Lot					Response		Award	Award	Pending
ì	Number	Code	Item Description	Purchase Unit	Vendor	Bid Price	Quantity	Total Price	Quantity	Total	Award